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Choose the correct
following alternatives :
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Standard error of sample mean is
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In a random sample of size 20 from a
normal population with variance 9, the

sample mean ix is distributed as a
normal distribution with variance
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For testing the significance of
independence of two or more qualitative
variables, the test statistic is
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The test statistic used for testing the
equality of population variance is
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F-test
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None of the above
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Answer the following questions :
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Define the r-th order statistic X,
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What do you understand by null and
alternative hypotheses? Explain with
example.
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What is standard error?
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State additive property of 3> -variate.
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State the assumption of student’s t-test.
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Obtain the p.d.f. of single-order statistics. b
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Define central limit theorem (CLT}. A coin is
tossed 200 times. Find the approximate
probability that the number of heads
obtained is between 80 and 120. 8
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State and prove weak law of large
- numbers.
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State  Chebyshev’s  inequality. A
symmetric die is thrown 600 times. Find

the lower bound for the probability of
getting 80 to 120 sixes.
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What do you unaerstaxld by sampling
distribution of statistic? Obtain the
sampling distribution of mean and
variance for a normal population.
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Define critical region and  level of
significance. How do you test the
significance of difference of proportions
in two large samples?
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Define xz-statistjc. Prove that the sum of
independent xz-variates is also a ;
x%-variate. Show that x 2 -distribution

approaches to normal distribution when
n — ©o,
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Obtain cumulant generating function of
x2 -distribution. Obtain its first four
cumulants and hence find its mean and
variance. If X; and X, are two
independent x2-variates with n; and
n, d.f., respectively, then prove that

— ﬂz(%, %g_) variate.
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1+143+4=9
Write its
Write down

Define Student-t Statistic,
probability density function.
different applications of Student-t.
Explain the t-test for testing the

significance of the difference between
two sample means.,
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Define F-statistic. Write down its density
function. Obtain  the mode of
F-distribution with (ny, n,) d.f. Establish

the relationship between ¢ and F
distribution.

* K &

P25—800/560 3 SEM FYUGP STSC3A

—



